HX B O R OH$ (k23428 A 1 H B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elcat i
% o | s | | & | #REK 7 | ke || B | & [#EK

1 B 799  923|  912| 1,835 4 1 4 40 A H 262  347|  348| 695

2| A (fE) 973| 1,166| 1,208| 2,374 44 IR 3 3 5 8

4 e 501 520  529| 1,049 45 JH/ | 110 98 82 180

5 Jbs e <F 347 469 448 917| 45| 45 45 48 k= 393 447 504 951

6 AH 233|  384|  345| 729 49 RN 303  336| 372 708

8| Al (fF) 345 384 408 792 50 LD HL 368 395 457 852

10 1E1L 211 208|  219| 427 52 [iE)7238 434 508 530 1,038

11 A H 53]  N\ENRE 449 448 544 992

14 _E 6 12 7 19 55 oo H 356 395 435 830

15| BAEHISE 1,227 1,537 1,626 3,163 56 R 259 267 325 592

16| FHERISE 982 1,362| 1,428 2,790 57 B i 169 197 206 403

17 W2 378  382| 454 836 58 —H 189 181 221 402

18 &7 R 317|  408| 418 826 59 N 198| 224 247 471

19 SEC A 17 19 21 40 60| BN 1T H 219 237 236 473

20 A B 1,205| 1,442| 1,395 2,837 119 119 119 61| mE1TH 117 125 145 270

22 FyhF 827|  984| 1,088 2,072 62| wmHE2TH 154 187| 216 403

23 A 284 351 357 708 63| mHE3TH 196 209 240| 449

24 HHN 889| 1,042| 1,123 2,165 64| mE4TH 73 93 86 179

25 VALl 65 /INRHHT 405| 490 500 990

27 oKW IA 264 278 345 623 66| HrnH 184 217 229 446

29|  FEAGE 19 19 19 67 BE 110 132 155| 287

31 L 79 101 97 198 68| TG 27T B 219 256 275 531

33 KL 327| 385 424 809 69 SR 147 186  214| 400

38 mIT 155 188 173|361

9| AN E 144 200 208| 408 7t 15,846| 18,742| 19,805 38,547| 168| 165 3| 168




X BN O RO (ERk234E8 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR I HUEHHE
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 504|  511|  499| 1,010{ 16| 16 16| [391| #AFITH 452 485| 478 963
312| %2 TH 180| 212 217|429 392| 2T H 104 110 108| 218
321 ME1ITH 385  368| 395| 763 393 W31 H
329| fE2TH 660 667 704| 1,371 411 KRE1TH 377 410 431 841
323| ME3TH 436 489| 486 975 412| KM2TH 366 425 466| 891
331 BAMI1TH 567|  537| 523 1,060] 33| 33 33| | 413 AWM3TH 280  280| 285 565
332 BAHZ2TH 408  431|  463| 894 414 A4 TH 418 432] 430 862
333| BAM3TH 409  369| 402 771 431 WE/HTTT H 400 459|499 958
334| BAH4TH 628|  664| 785 1,449 439| WE/HT2T H 843|  958| 1,057 2,015
341 R#1TH 772|  766|  781| 1,547| 68| 68 68| | 440 kS 646 747 779 1,526
342| RMH2T H 292 357 351 708 3 3 3| | 451 EFWS1ITH 455 519 568| 1,087
343 R#3TH 403 472| 484 956 452| EFIR2TH 254 253|308 561
344| R4 TH 293 301 350 651 461 —XCE1TH 815| 1,024 1,058| 2,082
345 RK#5TH 390  398| 482 880 462| —3XH&E2 T H 635 733|757 1,490
351 KM1TH 921| 895 978| 1,873 4711 AHITH 45 52 63| 115
350 EM2TH 921  847| 966| 1,813 472 AH2TH 212 277 278 555
353 KM3TH 712|739  791| 1,530 8| 5| 3| 8| |473] S H3TH 177 224 221 445
361 RAE1T H 293 292\ 235 527| 90| 77| 13| 90| |474| S H4TH 310 442  468| 910
362| HAHEZ2TH 398| 451 475|926 475 AH5TH 271 332 361 693
370 o5 7 < 580|  645|  625| 1,270| 25| 25 1| 26
381] AH1TH 197  284| 248 532
382| AH2TH 696  999|  976| 1,975 = 18,399 20,225| 21,165| 41,390| 243| 227| 17| 244
383 AH3TH 294 369 334 703 N 34,245| 38,967| 40,970( 79,937| 411| 392 20| 412




